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Assume the mass of ball m,, the mass of baseball bat m,,

4_‘ the velocity before collision are vy, v,;,. After collision, the
velocity become v,,, Vqq,-

The conservation of momentum and energy
. MyV1g + MpVpq = —MyV1p + MyV3p
1

1
AE = §m1(v12a - 77121;) = Emz(vzza - szb) = Py * At

2 _ 2 1 2 \_
Via = m_l(Po * At + 5m1771b)—>

PO 2Py*At
EE=mAv; = my (V14 — V1p) = my( / 01 + v, + vyp)
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Ly < v1,€050 * tsy,,

— : 1 2
H = v1,8in0 * tg, + 2g(tﬂy)

_ V1,Sind JV1a2sin?0 — 2gH
9

tf ly =

There are two solutions, but we choose the larger solution.

V1,€0S0
Ly < MT [ViaSin6 + \/vlazsinze — 2gH]



